## Published on dated 26/08/2025 in Dainik Jagran, Lucknow (Hindi), Hindustan Times, Lucknow (English), Times of India, New Delhi (English) & The New Indian Express, (South Edition)

## DR. RAM MANOHAR LOHIA INSTITUTE OF MEDICAL SCIENCES

VIBHUTI KHAND , GOMTI NAGAR, LUCKNOW- 226 010 Phones: 0522-4918510, Fax 0522-4918506 Website : www.drrmlims.ac.in

Ref. No. RMLIMS/MM(Eq)/2025-26/1133

## **Tender Notice**

On-line offers are invited through GEM bidding from Original Equipment Manufacturer/Direct Importers/Authorized Distributors (declared by principal firm only) for the supply & installation of various Equipments for the various departments in the Institute.

The Vendors are required to submit their offer on GEM portal only in two bids system i.e. technical & financial bid as per norms of GeM portal.

For more details information like Name of Equipments, Date of Submission and opening of bid etc., you may please visit the GeM portal <a href="www.gem.gov.in">www.gem.gov.in</a>, The list of equipment will also be available on our website <a href="www.drrmlims.ac.in">www.drrmlims.ac.in</a> for reference only. The offer will be accepted On–Line only on GeM portal with terms and conditions as mentioned in GeM bidding document.

The Director reserves the right to accept or reject any tenders in part or full without assigning any reason thereof.

**Director** 

Date: 25.08.2025

<u>Sr.</u> <u>No.</u>	Name Of Department	Name Of Equipments	Qty.	Unit Estimated Cost	Total Estimated Cost	Bid No.	Tende r Time
1	Cardiology	Scrubs for Cath lab with Sensor	1	5,00,000.00	5,00,000.00	GEM/2025/B/6723393 dated 24/09/2025	1st Time
2	Endocrine Surgery	Integrated Autofluorescence & ICG Device for Breast and Endocrine Surgery	1	95,00,000.00	95,00,000.00	GEM/2025/B/6698065 dated 24/09/2025	1st Time
3	Microbiology	LED Fluorescence Microscope for TB with camera and computer	1	6,00,000.00	6,00,000.00	GEM/2025/B/6723152 dated 24/09/2025	1st Time
4	Neurology	Tilt Table for Autonomic Testing	1	10,00,000.00	10,00,000.00	GEM/2025/B/6698172 dated 24/09/2025	1st Time
5	PMR	Virtual Reality (VR) Rehabilitation	1	50,00,000.00	50,00,000.00	GEM/2025/B/6688848 dated 24/09/2025	1st Time
6	Pathology	Slide Filing Cabinets (50,000 capacity)	2	4,50,000.00	9,00,000.00	GEM/2025/B/6723252 dated 24/09/2025	1st Time

			ı	1	1	
	Block Filing Cabinets (50,000 capacity)	2	5,00,000.00	10,00,000.00	GEM/2025/B/6709347 dated 26/09/2025	1st Time
Surgical Oncology	High End Versatile Retracting System for ONCO Surgeries	1	40,00,000.00	40,00,000.00	GEM/2025/B/6704159 dated 24/09/2025	1st Time
	Refrigerator	1	1,25,000.00	1,25,000.00	GEM/2025/B/6684813 dated 24/09/2025	1st Time
Hematology	Tube Sealer	1	5,00,000.00	5,00,000.00	GEM/2025/B/6684915 dated 24/09/2025	1st Time
	Microscope	1	6,00,000.00	6,00,000.00	GEM/2025/B/6684967 dated 24/09/2025	1st Time
Urology	Air Seal System	1	28,00,000.00	28,00,000.00	GEM/2025/B/6704999 dated 24/09/2025	1st Time
Neurosurgery	Cervical Spine Retractor System (Radiolucent)	2	25,50,000.00	51,00,000.00	GEM/2025/B/6693683 dated 24/09/2025	1st Time
	Digital Droplet PCR	1	85,00,000.00	85,00,000.00	GEM/2025/B/6709073 dated 26/09/2025	1st Time
Biochemistry	Nano-LC	1	65,00,000.00	65,00,000.00	GEM/2025/B/6709098 dated 26/09/2025	1st Time
	Refrigerator (-80°C)	1	11,00,000.00	11,00,000.00	GEM/2025/B/6685171 dated 24/09/2025	1st Time
Nephrology	Deep Freezer -80 Degree C	1	10,00,000.00	10,00,000.00	GEM/2025/B/6673235 dated 25/09/2025	1st Time
	High End Laparoscopic hand instrument set with vascular clamps	2	75,00,000.00	1,50,00,000.00	GEM/2025/B/6727153 dated 26/09/2025	1st Time
Gastrosurger y	Operation Theatre Digitisation and Collaboration Suite	1	1,50,00,000.00	1,50,00,000.00	GEM/2025/B/6727260 dated 26/09/2025	1st Time
	Choledochoscope High Definition with all attachment and processor	1	50,00,000.00	50,00,000.00	GEM/2025/B/6722826 dated 26/09/2025	1st Time
	Hematology  Urology  Neurosurgery  Biochemistry  Nephrology  Gastrosurger	Surgical Oncology  High End Versatile Retracting System for ONCO Surgeries  Refrigerator  Refrigerator  Tube Sealer  Microscope  Urology Air Seal System Retractor System (Radiolucent)  Digital Droplet PCR  Biochemistry Nano-LC  Refrigerator (-80°C)  Nephrology Deep Freezer -80 Degree C  High End Laparoscopic hand instrument set with vascular clamps  Operation Theatre Digitisation and Collaboration Suite  Choledochoscope High Definition with all attachment and	Surgical Oncology  High End Versatile Retracting System for ONCO Surgeries  Refrigerator  1  Hematology  Tube Sealer  1  Urology  Air Seal System  1  Cervical Spine Retractor System (Radiolucent)  Digital Droplet PCR  Digital Droplet PCR  Refrigerator (-80°C)  Refrigerator (-80°C)  High End Laparoscopic hand instrument set with vascular clamps  Operation Theatre Digitisation and Collaboration Suite  Choledochoscope High Definition with all attachment and	Surgical Oncology	Surgical Oncology	Surgical Oncology

21		CO2 Insufflator 50 liters (minimum) and above	2	25,00,000.00	50,00,000.00	GEM/2025/B/6727129 dated 26/09/2025	1st Time
22	Liver Transplant Unit (Gastrosurge ry Divison)	Ultrasonic Aspirator (CUSA)	2	45,00,000.00	90,00,000.00	GEM/2025/B/6722790 dated 26/09/2025	1st Time
23	Liver Transplant Unit (Anesthesiolo gy Division)	Patient Warming System (Carbon Fiber Based) (Adult)	2	11,00,000.00	22,00,000.00	GEM/2025/B/6704520 dated 24/09/2025	1st Time
24	ENT	Endoscopic Nasal & Skull Base Instruments	1	30,00,000.00	30,00,000.00	GEM/2025/B/6709441 dated 26/09/2025	1st Time
25	General Surgery	Miscellaneous Open Surgery Instruments Set	1	10,00,000.00	10,00,000.00	GEM/2025/B/6722735 dated 26/09/2025	1st Time
26	Ophthalmolo gy	OCT Angiography with Anterior Segment Attachment	1	1,15,00,000.00	1,15,00,000.00	GEM/2025/B/6733553 dated 26/09/2025	1st Time
27		LSCS Sets	3	4,00,000.00	12,00,000.00	GEM/2025/B/6723458 dated 26/09/2025	1st Time
28		Vaginal Delivery Set with Episiotmy	5	3,50,000.00	17,50,000.00	GEM/2025/B/6726808 dated 26/09/2025	1st Time
29		Abdominal Hysterectomy Sets	2	4,00,000.00	8,00,000.00	GEM/2025/B/6723519 dated 24/09/2025	1st Time
30	ODGENI	D & C Set	4	1,00,000.00	4,00,000.00	GEM/2025/B/6726394 dated 25/09/2025	1st Time
31	OBGYN	Endometrial Biopsy Set	4	2,00,000.00	8,00,000.00	GEM/2025/B/6726551 dated 25/09/2025	1st Time
32		Laparotomy Sets	2	4,00,000.00	8,00,000.00	GEM/2025/B/6726662 dated 25/09/2025	1st Time
33		Cervical Biopsy Sets	3	2,00,000.00	6,00,000.00	GEM/2025/B/6726851 dated 25/09/2025	1st Time
34		Suture Removal Set	5	2,00,000.00	10,00,000.00	GEM/2025/B/6726952 dated 26/09/2025	1st Time

35		Vaginal Examination Set	3	1,00,000.00	3,00,000.00	GEM/2025/B/6726737 dated 25/09/2025	1st Time
36		Labour Pain Management System Through TENS	1	1,00,000.00	1,00,000.00	GEM/2025/B/6726991 dated 25/09/2025	1st Time
37	Division of Pediatric Hepatology and Gastroenterol ogy	Capsule Endoscopy System	1	15,00,000.00	15,00,000.00	GEM/2025/B/6727067 dated 26/09/2025	1st Time
38	College of Nursing	Pediatric Training Mannequin	1	1,00,000.00	1,00,000.00	GEM/2025/B/6736671 dated 27/09/2025	1st Time
Rest equipments' bid will be uploaded soon							